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oxg= 90,000& = 29H 180
ogst=s 100,000& * 29X 200
Ootd 3t 60,0002 » 29H 120
otzs RANE=E g dX=
800,000& « 12& 9,600
02 2324l 1,393,548 1,373,204 20,344
OJNZECts HMIIR= 1,374,000
OIH=zs 260,000& = 250004 = 12& 780,000
OBE¢ts 7,500& * 6,600 * 12& 594,000
OJzsS g FEI| SHe=
4,5003 * 2900 & » 12& 15,660
OJz2E FANEFE I |FFH
1,350& = 124 = 240 3,888
206 TH 2 HI 90,980 71,000 19,980
01 MZ 4l 90,980 71,000 19,980




SA:

S AL
M YHES JI2EHBXAH
Sel: DR 2oS R (29l 8)
SA - BB (BH) - MEAMY - BYS ofl &t o SSa HDE2
O}z2Eos B2 M 90,980
OBots EHJ| 80,000& * 1561 12,480
Otz sdgs HE)| 1,800,000& = 104 18,000
ONAULHEE &I 1500 18,000& * 5004 9,000
OLNYUES &I 2500 20,000& * 40004 8,000
ONAUHEE 2&+HI| 1500 17,000& * 5004 8,500
ODNAUHEE &-HI| 2500 20,000& * 4004 8,000
OLEDS I+ 70W 700,000 = 2004 14,000
OLEDE I+ 150W 1,000,000& = 134 13,000
401 Al HI L 2 0HHI 342,448 322,304 20,144
01 Al&H| 340,000 320,000 20,000
OJIz2E0otsE B4 200,000& = 1,700 340,000
03 A& 2 0HH] 2,448 2,304 144
OJgeEos B FX AIZ204|
340,000,000& * 0.72% 2,448
DYHUNMS PG TAIDIBIERA 9,212,483 9,937,183 NT724,700
= 12m0|cte TAIHEEZZ HA 1,939,708 2,278,015 338,307
T Z2I|EAIE S 17,750 18,070 N 320
201 et A | 17,750 18,070 A 320
01 At 22l ] 13,566 14,070 N 504
oLt =2H| 3,966
OZAAHEDRA AIRE 4223 1,566
-2 A2 Xl (A4) 21,000 = 3&HX » 128 756
B ABE 810
43 70,000& = 104 * 33 210
OIED| EX 100,000& = 64Xt 600
O LEH AR2E 2,400
-MIEAMIIEY 260,000& = 54 1,300
-TEle EY 220,000& = 54 1,100
oL T2EE 88N L ANEEZE
PNE=IRIDN 800,000& = 128 9,600
02 3524t 4,184 4,000 184
OEXNOIESHECRY 32 HHEH A2
2l 296
O™ X= AL 3,700,000& = 8% 296
OXERZHI 1,350 * 124 * 240 3,888
)l £2 BYSK 24 207,200 204,210 2,990
401 Al HI L 2 0HHI 207,200 204,210 2,990
01 Al&H| 207,200 204,210 2,990
OJ T2EHUSK B4 207,200
OE&E X Oyl 200,000, 000& 200,000




2N
X ZH -
L= B

el

g3 AL
SUHE At TADIBEHA
= 12m01 2t SAHEEZ N4

SN FH-SA(EN) - MBAY - BES 0l &k o4 il Hl D&
OA&===2 7,200
AHEILLE
370,000 = 20| & = 5A 3,700
—E¥EEFTE 1,000,000& = 3Z Xl 3,000
-SJ0lE =2 100,000& * 5E X 500
s W (A3-9985) 24 120,000 0 120,000
401 A& HIZ 201 I 120,000 0 120,000
01 A& HI 120,000 0 120,000
OEXHHI 120,000, 000& 120,000
=S BERRE(L2-2928) T 2HH 650,000 10,000 640,000
401 AIEHI L 2 CHYI 650,000 10,000 640,000
01 A& HI 650,000 10,000 640,000
OE X0 & Hl 650,000,000 650,000
2AS 83 (L1-4108) S2H4 300,000 200,000 100,000
401 AIEHI L 2CHEI 300,000 200,000 100,000
01 A& Bl 300,000 200,000 100,000
OE X0 Hl 300,000, 000& 300,000
245 SEZUFA(L3-12138) T 24 100,000 0 100,000
401 A& HIZ 201 I 100,000 0 100,000
01 A& HI 100,000 0 100,000
OEXHHI 100,000, 000& 100,000
Ho S& FRAME A (22-128) T2MH4 80,000 10,000 70,000
401 Al HIZ 2018 80,000 10,000 70,000
01 A& HI 80,000 10,000 70,000
OE X0 & Hl 80,000,000& 80,000
=28S HOIOIHE H(A2-2783) S2HA 50,540 55,540 A5,000
401 AIEHI L 2 CHYI 50,540 55,540 A5,000
01 A& HI 50,000 55,000 25,000
© 3 AttI (L=15m, B=8m) 50,000,000& 50,000
03 AlE 2 THHI 540 540 0
OA &SI 50,000,000& = 1.08% 540
MNES A0S (42-15883 )2 ME 3 A 414,218 0 414,218
401 Al HIZ 2018 414,218 0 414,218
01 A& HI 414,218 0 414,218
O & Al &2 AHlHl 352,800,000& * 4.03% 14,218
OE X0 Hl 400,000,000& 400,000
C2ae 7,272,775 7,659,168 A 386,393
E2EH ¥ RAEF 3,475,405 3,617,175 A 141,770




SN 4YTR ALD
Iu: RAUTS A TAIIBEY
& E2ae (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
101 @l H] 4,677 4,283 394
04 JIZtNZ22XNSE+ 4,677 4,283 394
OZ& wsSEITA 4,677
ooy 71,9403 = 32 » 2& * 1004 4,317
O2tALH|
3,000 = 23| * 32 * 2& * 10002 360
201 L2 | 346,953 335,884 11,069
01 At 22l bl 57,502 46,860 10,642
O 3H €HE 223 4,652
OZ=2H ZEHdl 83 4,652
-E26 2X(A1) 27,500% = 58 * 63 825
-ZE26 2XI(A0) 66,0008 * 18 » 63 396
-22H ol 148,400& » 104 = 12& 1,781
-22H 23 55,0008 = 54 = 63 1,650
O==2d ZME HAH & =2 FHl SX2 20,000
O=4tD| 550,000& 100 = 20 11,000
ogxxt 450,000 = 10H = 20€ 9,000
O HFZAL & A=HZES X
800,000& 104 = 123 9,600
OL£AHZ=Zd Hdlols 600,000& = 3H 1,800
Ox72 =2 EXAMEE 500,000& = 102X 5,000
OFSPIRCIFSIN o ey 6,360
o8gs XNt 265,000& * 123 3,180
OZg-ddHE 265,000& * 12& 3,180
O=ZANE =ZIA =8 200
Osd=z Xele Hel HteY 2=
20,000% = 1JHA = 28] = 58 200
O3=at2el 9,890
O=gsgs=2 372,000& * 102 X 3,720
OBAHNEEH=E 567,000& * 10& X 5,670
O=ssMatael ZNEXE MH
50,000& 1094 500
02 s3=2gHl 289,451 289,024 427
QJISE AtR4A HHetl 1,584
ORFUH(SR) 880% » 304/ = 60 1,584
O==2H M=XLES 0FI A=2H| 1,560
OsFU(RZSR)
1,560 = 50 = 204 * 100 1,560
O==2dH4l &4l +clbl 1,000
OulHII, HEII 500,000& =+ 28 1,000
OXGHXE JIAHEH =X 7,823
ORFUH(EBR) 1,350& = 4504 = 32 1,823
ogdI 88 & el 1,000, 000& 1,000




SA: 4T ALD
2 2

M ZELHES s ZADIEEY
S E2ae
SA BB O () - MM - HES 0l &+ o4 il

Oti=8= d&d &« =2ldl 5,000,000& 5,000
ORXGHXE =Hi &t KXl 5,000
=M Bt 500,000 * 5JH 4 2,500

O & Bt 500,000& * 5JH A 2,500
OFAEZ=Z2(ML)&e CCTV 3322 5,400
OoNIIe=a 50,000& = 3CH » 12& 1,800
Osldea 100,000& = 304 = 12& 3,600
Og-At-2t HY 141,600
OoNIIe3 11,000,000& = 12& 132,000
OHdEJHR3 800,000& » 12& 9,600
OunsHE 9,000
[OFSPIETa= 750,000& = 12& 9,000
O SYOIIE M2 EH 2,884
ONIIe3 550,000& = 4& 2,200
Ostes 57,000& = 12& 684
odd =z AsIAZEIX 1,392
OoNIIe=a 150,000& » 4& 600
Ostes3 66,000& = 12& 792
OXNLZIEE NS2HISAAE 6,000
Ostes 500,000& = 12& 6,000
OdtaETs Mo 11,760
OoNIIe3 65,0003 * 74 + 123 5,460
Osldeaza 75,0003 * 74+ 12& 6,300
ORAA otaEZ A2l AsXAIAEH 34,560
OoNIIe3 40,000 * 12002 = 128 5,760
OCCTVal &8 23 200,000& = 12004 = 12& 28,800
O=%=Z Xele Hel HE 2 A4 56,000
OoNIIe=a 1,200,000& = 12& 14,400
Ofdt=E 23 5,200& * 800& » 10 41,600
OxXE:FHI 1,350 * 124 = 240 3,888

206 M= Hl 48,018 48,018
01 Wbl 48,018 48,018

OXNZIET=ZzESZE UM 45,510
Oxgdd3IXN= 231,000 * 604 13,860
OXotAZ 14,0002 * 1,500% 21,000
OANHE 5,000& = 250% 1,250
o= 23,0002 = 200m' 4,600
O (MA)2 45 16,000& * 300m' 4,800
OE2Ex MUK ctd2e|E XM 2,508
O3 ALY EX & 60,000 = 1JH 60
O3S A8 HA 25,0002 = 204 500
OZ3AE ctut2 13,200 * 300H 396




2N

=
M. 2
£

Ehel cl (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OdX &s3 15,0002 * 30H 450
OfIg 21ds 17,6002 2004 352
O&=2JlIstt e+
15,000& = 1000 = 58 750
305 &= s 5,000 5,000 0
01 Hia=s 5,000 5,000 0
OZZAN&EE m&E2Z Qs Toll oiat
500,000& = 102l 5,000
307 21201 A 64,800 64,800 0
05 BIZHRI & 3 64,800 64,800 0
OXotE &l 1,400,000& * 104 123 16,800
022 = Hel FNEH| 48,000
O=0 £ AF¥ &4l 18,000, 000& 18,000
OHEANEE S E 2,500,000& * 123 30,000
401 AIEHI L 20 3,005,957 3,159,190 A 153,233
01 A& HI 2,997,785 3,148,575 A 150,790
02 & TZ2ANEE FANEFAY 2,270,000
O0tAZE 2B 300,000, 000& 300,000
OX& =M 50,000,000& 50,000
O 2 ZAA RAE+ 50,000,000& 50,000
OUsSsNE=> 950,000,000 950,000
Osz2s:8=s 720,000,000& 720,000
Oz AEdE RNES 100,000, 000& 100,000
O 0ESTA ANEE SN2+
100,000, 000& 100,000
OARZAE(ME, 2we S) FAZlH]
100,000, 000& 100,000
OF2 T2H(MEZ=&HY S) FUIAY (L=165km,
23) 150,000, 000& 150,000
O=E6zd E3A 15,000, 000& 15,000
O=dz 242 T2E I A 250,000, 000& 250,000
Oz &Hl ¥ |AZcIAY AAEAL
2,270,000,000& =* 3.15% 71,505
OE208 SYL22(FNE)
450,000% * 10Z X 4,500
OE20Y EYL22(SEEY)
350,000& » 10E X 3,500
O4&tdHE CCTV & &2 RANE+
85,000 = 28CH = 12& 28,560
o022t ¥ sHEZZ OlA=8X 24 104,720
OEXI0H bl 100,000, 000& 100,000
OAx&+==+2 4,720
-ZEEote=+3 370,000& » 2J|& » 3A 2,220
—=gEEEE 1,000,000& = 22Xl 2,000




SN 4YTR ALD
M DHUMES 9B TAIIUEM
ool cRal (B9 ®R)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
-SI0I8 =T 100,000& * 5Z X 500
03 Al S HHI 8,172 10,615 A2,443
Oz ¥ T2ANE=E RAE+ ANERUHI
2,270,000,000& =* 0.36% 8,172
A28 KGRI AL 1,194,310 3,656,933 A 2,462,623
401 Al HIZ 201 8] 1,194,310 3,656,933 AN 2,462,623
01 A& HI 1,190,213 3,647,377 A2,457,164
odd =Z32 MEZHI SA 40,000,000& 40,000
Ogd X&3el SHEX S A 40,000,000& 40,000
Odd Zote| Dttt OtAE WX RIS A
50,000,000& 50,000
oOdl olgel OtAE MRS A
40,000,000& 40,000
OO0 a2l s2EHBA 40,000,000& 40,000
OO0l a2l M ZHI S A 25,000,000& 25,000
O0I& ==4Hel OtAZ IHN RIS A
40,000,000& 40,000
OO0I2 st&el(370-1) M&EAHI S A
30,000,000& 30,000
o0& =22l 0t=e+2d HHIS A 30,000,000 30,000
O0I& #0l2 s2EZE3A 15,000, 000& 15,000
oy Azl 0tsdY= FHUISAM
60,000,000& 60,000
oXte ZE1el MAEAZHEIZSA 65,000,000& 65,000
ONHY sE306=6 Ex3At 50,000,000& 50,000
OJtY &i1el OtAZ IARIISA
40,000,000& 40,000
O Jtat3e] OtAZ IMN RIS A
60,000,000& 60,000
oYY Al&22(722) 23 OLAZE IMN RIS A
50,000,000& 50,000
O=Z2 Otsel Ots2w 23 A 30,000,000 30,000
Osds L2 ETZHISA 8,000,000 8,000
ON=ZE(227-19) L& OtAZE MR B A
10,000, 000& 10,000
Odots L2 BT FZHISA 15,000, 000& 15,000
OZ2s L& OtA2 IMRI|ZB A
100,000, 000& 100,000
O=zdS L& OtA2 IMRI|ZB A
10,000, 000& 10,000
OttEES LA MAZHIZSA 20,000,000& 20,000
O8L1=(23, 27HI L&) 2 HEXSA
60,000,000& 60,000

OXN=s L& 0tA2 IHNL2IIBA

25,000,000& 25,000




SN 4YTR ALD
X DEYTE /8 TADIEERY
el Ezzel (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OL7E FUSIAAY(SY) 200,000, 000& 200,000
OA72 XNIEIHRI| ALY A AL A
1,138,000,000& * 3.27% 37,213
03 Al S THHI 4,097 9,556 A5,459
OAIE 2 HHI 1,138,000,000& =* 0.36% 4,097
g @ AIEE sA22 753,060 385,060 368,000
401 AIEHI L 2 CHEI 753,060 385,060 368,000
01 A& Bl 750,900 382,900 368,000
OEdNEs+E22 3 At 200,000, 000& 200,000
oung & N2 RAE= 300,000,000 300,000
OANEE HME 2 FXNES 30,000,000& 30,000
Onew 2 2w FYHEASA 50,000,000 50,000
OANSY AN&E8 JUNMFIA(ZEHWL 50a)
90,000, 000& 90,000
OANSY A&EE JUANFA(SLNIUE 2
54 4) 80,000,000& 80,000
OZHHEZEE s N2 &l
30,000& = 59 * 63 900
03 Al S THHI 2,160 2,160 0
ong & ANE28 RASAY AIER20HH]
300,000,000& * 0.72% 2,160
SiHAD o= MY 1,850,000 0 1,850,000
401 AIEHI L 2 CHYI 1,850,000 0 1,850,000
01 A& HI 1,850,000 0 1,850,000
OYAwroi=73 A 1,850,000, 000& 1,850,000
ek Wahel Mzst 28 3,744,950 2,447,822 1,297,128
= 200,000
< 60,000
Al 3,484,950
TH - THGH Ol 2 2,316,190 246,034 2,070,156
= 200,000
< 60,000
Al 2,056,190
Mt 2 THoH 22 1,916,190 86,034 1,830, 156
201 2et2d] 104,540 83,634 20,906
01 At 22l 4,940 4,720 220
OJIsE AIRA Y- (RUIIAFH) 2=
2,000,000& 2,000
omde E2S L LY HMH
70,000& * 102 700
OMtESEaras 22 =&l
8,000& = 2% = 50¢ 800
ONM&ZY 2RI =&l
8,000& = 3% = 60 1,440




SN 4T AED
M T - oS MZ3 28
Sl THH - THol ol (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
02 =224l 99,600 78,914 20,686
OHoli 2 &HHl «+=&H| 9,440
OueI| =sXlael 1,000,000& * 2CH 2,000
ONMAE 2efaxI| 22|
1,000,000& * 2CH 2,000
ONM&E =L =g
1,000,000& * 4CH 4,000
OM&E ZFH HY ME=
120,000& = 123 1,440
OMEHH &EX AEE 2,560
OMAEX (weI]) MIMNEZ
200,000 = 2CH = 4& 1,600
ONMEEX dot=E AIEE
80,000& = 3CH = 4& 960
O = Hl 7,800
OMEZY & HUSIU(SR)
880& * 504 * 30¢ 1,320
ONMEE 2AHMZ) RF]U(ER)
1,350& = 1604 = 302 6,480
Ozt ¥ SOHEEZ HNEHd 79,800
ONMAZY BEZ(EAHIYHO0IH)
400,000& * 114CH 45,600
ON&ZEH EH RFHI
100,000& = 33 = 11404 34,200
206 M= Hl 7,400 2,400 5,000
01 24l 7,400 2,400 5,000
O=ollti & XM 7,400
O2 2% (0.8mx12m) 20,000& = 202 400
OQtMHIOIE 2 45 2,000,000& 2,000
OPPZH 10,0002 * 5000H 5,000
401 Al HI L 2T 1,792,250 0 1,792,250
01 A& HI 1,792,250 0 1,792,250
OUAAGHE (154H X A ) =0l S S A 25,558
O3 AtH| 24,000,000 24,000
O& A& 24,000,000& * 6.49% 1,558
OSIAAGHA (3B7H XA )=l S S A 57,278
O3 Atdl 54,000,000& 54,000
O& A& A bl 54,000,000& =* 6.07% 3,278
OHOIOtaGHE (1271 X & ) =l SR S A 55,157
O3 Atdl 52,000,000& 52,000
O& A& AHHI 52,000,000& * 6.07% 3,157
O AGHA(184H XS ) =THER S A 63,642
O3 AtH| 60,000,000& 60,000
O& A& 60,000,000& * 6.07% 3,642




SN AT AED
HE: e WHS M2 P
SHPl T - THEH ol
o
SN B SR(EH) - MBAY - BES 04l &t o e
CREES IR E T EEE= 95,463
OZ Al 90,000, 0002 90,000
O& A& A 90,000,0008 * 6.07% 5,463
ZOAGHA (684K &) 2 GH=Z B A 54,006
O A 51,000,0002 51,000
O& A& A 51,000,0002 * 6.07% 3,096
©U b2 5H (2000) 4 3= 22 A 15,000
OZ A 15,000, 0002 15,000
OBFS 134HN < 144 52 U ME 25
=23 A 6.500,000% 6,500
29| 32| 3187 LY 52 LHZRIM
1,000,002 1,000
OY4 ol 208-1HT L HE +H=PT
At 78,000, 0002 78,000
OOl 2l 67H X L& ME +H=TIA
54,600, 0002 54,600
O 2ol 528X LB ME HZTIA
136,300, 0002 136,300
OOl [Ha2l 12528 % L& HE 431223
At 54,500, 0002 54,500
OYH &2l 473X LB ME 2HZTIA
67,300,002 67,300
OO0l 32| 276-1# X LB HE =22
A 55,900,000& 55,900
OOl 3H&2l 328X LA ME +HZTIA
33,200,002 33,200
OOl 322l 42381X L& B+E 2H=RT
At 42,400,002 42,400
OYs =2l ME =TI A
43,800,002 43,800
OO0l 282/ U LA ME +H=ZTIA
111,500, 0002 111,500
OY4 olFal 2048 X LB ME +HZRIA
166,300, 0002 166,300
O RH2| 4238 X LB ME 2HZRIA
85,200,002 85,200
OYs RH2l B4R +HZTIA
21,000,0002 21,000
OOl Jbgral 70B X LB ME +HZTIA
62,400,000& 62,400
O0I¥ Z2l 078X LB ME +H=ZRIA
87,900,000& 87,900
OOl [HA2| 406-1#X] LB HE +31=22
At 54,600,002 54,600
O P42l 259-38 T L HE =22
At 4,400,000% 4,400
OO 322l 502-1#K LB HE +H=23
At 39,900,0002 39,900




SN 4YTR ALD
M T - THol 2 MZst =&
Sl T - THOH ol (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Odd K43l 23 NE iSRS AM
49,000,000& 49,000
O 22l 369-2¢K LA HME =22
At 54,800,000 54,800
Odgyd &gl 2E18d =23 A
13,400,000& 13,400
Oodd 242 2 Z203&8 8 =723 At
11,600, 000& 11,600
oOdgyd oldel 2E2sd =23 A
9,900,000& 9,900
OO0l =2l HZ1018d =S A
33,600,000& 33,600
Oodgyd oldel 2E2sd =22 A
1,900,000 1,900
O=oH=73 At &AIEAHHI
1,380,900,000& * 3.27% 45,156
405 XHobF S HI 12,000 0 12,000
01 AL ESFH S 12,000 0 12,000
OLoiHz M&&EH + 12,000
O15€ HHE® 2¢ 12,000,000& * 1CH 12,000
A2T2X 7 SZAMA SAU/AE NS ZHIALSY 400,000 0 400,000
= 200,000
< 60,000
Al 140,000
401 AIEHIZL 2 CHEI 400,000 0 400,000
= 200,000
= 60,000
Al 140,000
01 A& Bl 400,000 0 400,000
OAH2X 7 23 AX SUASE XA HUIAMY
400,000,000 400,000
= 200,000
< 60,000
Al 140,000
SH&E - Hi=AlE O 1,428,760 2,201,788 AT73,028
Bi==Ald &EHl ¥ sX2ta 450,425 370,411 80,014
401 AIEHI L 2CHYI 450,425 370,411 80,014
01 A& HI 447,329 367,826 79,503
Obtsot=E EHl & SX2elAtd
230,000, 000& 230,000
O=222l(360-2) L& =1 AL
200,000, 000& 200,000
Otf== JHIS AL &AIZAHI
430,000,000& * 4.03% 17,329
03 Al S THHI 3,096 2,585 511




SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Otil==2 HHISAL AIZ=0HHI
430,000,000& * 0.72% 3,096
ot Hdl ¥ ®X 2l 797,615 454,104 343,511
201 £B-2dH| 22,000 20,000 2,000
01 At 22l 22,000 20,000 2,000
OaEs 2 otdE=LZH Xt 22,000
O=4tJ| 600,000& * 100 » 20 12,000
ogoxt 500,000& = 104 = 20 10,000
401 A& HIZ 201 Y| 775,615 434,104 341,511
01 A& HI 774,040 431,000 343,040
Oot& KX &AL 460,000,000& 460,000
OFR ot&H M= (&8H]) 40,000,000 40,000
el RHAMES(OIAIE S) MHALS
500& = 43,000m = 23| 43,000
OZd =Z2MHSA 80,000,000& 80,000
Ootd Y 0IXNSEX 24 151,040
OEXI0H bl 150,000, 000& 150,000
OLz442 1,040
-Z&EEol=2+3 370,000& » 2J|2 » 1A 740
-SI0l&d==8 100,000& » 3Z Xl 300
03 Al 2 THHI 1,575 3,104 A 1,529
OGtE R RIZElALY AlE 20l
250,000,000& * 0.63% 1,575
A0t FHIALY 180,720 1,377,273 21,196,553
401 AIEHI L 2 CHYI 180,720 1,377,273 A 1,196,553
01 A& HI 180,000 1,372,491 A 1,192,491
OAdtd RAE= 80,000,000& 80,000
OEXNZA(LHAATIE FHEIZAH)
100,000, 000& 100,000
03 A& 2 THHI 720 4,782 N4,062
OLotd RAE AIZ=20UH
80,000,000& * 0.90% 720
of=2te| 30,050 30,050 0
Not+ B 22 30,050 30,050 0
Aot A2 22l 30,050 30,050 0
201 Let24d] 5,050 5,050 0
01 At 2teltl 250 250 0
OXlot= =2ZFL AlZ M=+E8 7
2,500& 1004 250
02 =24l 4,800 4,800 0




2N
X ZH -
L= B

el

A== S9(3H) - NEAY - BaS ﬁlf& HD=2
ONdl+ 2xa2Y Hole=
6,0008 * 25004 « 12€ 1,800
ONt+ BXAEY SHRS
10,000 * 25004 = 128 3,000
401 Al Bl 2 0HHI 25,000 25,000 0
01 Al& H| 25,000 25,000 0
OXots 24X HB3HeLI
2,500,000& = 204 A 5,000
OXlole BX2=2 HHIALY 20,000, 000& 20,000
HEHSAALG (AT AL 661,797 418,257 243,540
A2 581,927 338,068 243,859
Pallsl! 581,927 338,068 243,859
101 2124 4| 581,927 338,068 243,859
03 2IAHAZZXHE = 581,927 338,068 243,859
oz« 373,627
ods(o2) 208,498
-26E Xt 3,418, 740& » 14 * 128 41,025
-184 Xt 2,985,940& * 1¥ = 12& 35,832
=173 Xt 2,931,840& * 24 * 12& 70,365
-144 X} 2,769,540 * 1H = 12& 33,235
—64E Xt 2,336,740& * 14 * 12& 28,041
(OE3=] 154,535
-tEY 3,120
bl < X+ 40,0008 * 5Y x 128 2,400
EslE= 20,000& + 398 » 12& 720
EHE =y 100,000& = 12& 1,200
-HEIZESY
17,8003 * 20AI2t = 5H * 12& 21,360
o224
17,800& * 8AIZ2t x 5H = 30 21,360
-2z
17,800& * 8AIZ2F » 5% = 100 71,200
-A X 94,9603 * 5 x 20& 9,496
25 120,000 * 59 x 12& 7,200
&A= 70,000& = 5 x 12& 4,200
-HAESOtH| 1,539,840& * 5% * 23] 15,399
OXHs xS (1nsSsH)
398,500 * 1Y = 43| 1,594
O= & 150,000& = 5% = 12& 9,000
OS2 XA S| 4,400
O2z0| el 8,000& * 5% * 60 2,400
O=aoHCH=H 8,000& ~ 5hYH * 50 2,000
O8AX Xl 500,000& * 59 2,500




SN AgT ALY
M HEeHAH (Mg AL
=2l (eaE)

Y. B (3H) - HEAY - BES o A o SSa H RS2
OE2E 43 L5yl 1,400
Oo&g=s 90,000& = 594 450
o=g9 15,000& * 59 75
OCotH g} 60,000& = 594 300
O& 3 15,000& * 59 75
Oogst= 100,000& * 59 500
oxzllst EA3 200,000,000& * 14 200,000
3l 79,870 80, 189 A 319
=&l 79,870 80,189 A 319
201 Bt A H| 41,202 45,749 N4, 547
01 At 22l Yl 32,968 38,308 AN5,340
OJI=2gdR=3AH| 500,000& * 26H 13,000
OJI=ZZHI(S&HI)
8,000& * 26Y * 82 * 12& 19,968
02 332494l 8,234 7,441 793
oRER2 6,074
Oget 300& * 6,66621 2,000
OsII 2,100& = 1,700 3,570
(@)= =3 1,680& = 30021 504
OdHEEHH KX E=Hl 27,000,000& * 8% 2,160
202 04| 32,448 27,840 4,608
01 2LHOHI 27,648 27,840 N 192
©J| =&l
20,000 * 249 x 82 * 128 * 60% 27,648
02 EHN Y| 4,800 0 4,800
OMANBEX (HAZE)
200,000& = 2% = 12& 4,800
203 € R =&Y| 5,220 5,700 N 480
04 ENSIHRF=EY| 5,220 5,700 AN 480
QJ| &= 5,220
03021 0|5t 400,000& = 12& 4,800
O30 =1t 5,000& * 78 = 12& 420
405 XHabF SHI 1,000 900 100
01 It = S F SHI 1,000 900 100
OHUOIMEZIEH(MEE22E)
1,000,000& = 1CH 1,000
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SN 42T AED
HE: BFSYAU (4T ASD)
erel: Jl= 2| (29 a8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OJI=2gR+=AY| 500,000& * 229 11,000
OJIZZHI(S&HI)
8,000& * 22 % 82 x 12& 16,896
O8I Xtz 50,000& = 1CH ~ 12& 600
02 35244l 8,900 6,592 2,308
oRH2 7,836
O gt 350 * 200 * 12& 840
O&II 2,100& * 200 * 12& 5,040
otts= 1,630& * 1008 + 12& 1,956
OHH AR EHI =X b 1,064
Ol EJ] 2,300,000& ~ 10H ~ 8% 184
O&EX= AL 5,500,000& * 20 * 8% 880
202 4] 43,296 42,432 864
01 2LHHI 16,896 23,232 N6,336
©J| =& bl
20,000& * 11 = 8 * 12& * 80% 16,896
02 EHNYI 26,400 19,200 7,200
ONAESHI(EIAFEH)
200,000& = 1H = 12& 2,400
OMAESH A 200,000& = 10¥ * 128 24,000
203 R =&lY| 4,200 4,200 0
04 ENSI IR =Y 4,200 4,200 0
OJ|= (2521 0l5t) 350,000& « 12& 4,200
405 X+HoHF SHI 6,800 0 6,800
01 A&t = S F SHI 6,800 0 6,800
oZetmelgAaszEszet) 3,500,000& * 1CH 3,500
(ORIEP] 2,300,000& * 1CH 2,300
OWHA (500 0Ol4h) 1,000,000& = 1CH 1,000




